
Vocational Theory, 
ED/Management 

 



QUESTION PAPER PATTERN FOR ED/MANAGEMENT 

Total Score : 80 

PART – I (1score X 8=8) 

A) Answer all the questions.
Questions from 1 to 6 carries 1 score.  (1score X 6=6) 
1 apXÂ 6 hsc tNmZ-y-§Ä¡v 1 kvtImÀ hoXw.

 1. 

 2. 

 3. 

 4. 

5. 

 6. 

B) Answer all the questions.
Questions from 1 to 2 carries 1 score.  (1score X 2=2) 
7 apXÂ 8 hsc tNmZ-y-§Ä¡v 1 kvtImÀ hoXw.

 7. 

8. 

PART – II (2score X 4=8) 

A) Answer any 2 questions out of 3 questions.
Questions from 9 to 11 carries 2 score.  (2score X 2=4) 
9 apXÂ 11 hsc tNmZ-y-§Ä¡v 2 kvtImÀ hoXw. 

 9. 

 10. 

11. 

B) Answer any 2 questions out of 3 questions.
Questions from 12 to 14 carries 2 score.  (2score X 2=4) 
12 apXÂ 14 hsc tNmZ-y-§Ä¡v 2 kvtImÀ hoXw. 

12. 

13. 

14. 

PART – III  (4score X 6=24) 

A) Answer any 3 questions out of 4 questions.
Questions from 15 to 18 carries 4 score.  (4score X 3=12) 
15 apXÂ 18 hsc tNmZ-y-§Ä¡v 4 kvtImÀ hoXw. 

15. 

16. 

17. 

18.



B) Answer any 3 questions out of 4 questions.
Questions from 19 to 22 carries 4 score.  (4score X 3=12) 
19 apXÂ 22 hsc tNmZ-y-§Ä¡v 4 kvtImÀ hoXw. 

19. 

20. 

21. 

22. 

PART – IV  (6score X 4=24) 

A) Answer any 3 questions out of 4 questions.
Questions from 23 to 26 carries 6 score.  (6score X 3=18) 
23 apXÂ 26 hsc tNmZ-y-§Ä¡v 6 kvtImÀ hoXw. 

23. 

24. 

 25. 

26. 

B) Answer any 1 questions out of 2 questions.
Questions from 27 to 28 carries 6 score.  (6score X 1=6) 
27 apXÂ 28 hsc tNmZ-y-§Ä¡v 6 kvtImÀ hoXw. 

 27. 

28. 

PART – V  (8score X 2=16) 

A) Answer any 2 questions out of 4 questions.
Questions from 29 to 32 carries 8 score.  (8score X 2=16) 
29 apXÂ 32 hsc tNmZ-y-§Ä¡v 8 kvtImÀ hoXw. 

29. 

30. 

31. 

32. 

****************************** 



QUESTION PAPER PATTERN FOR VOCATIONAL THEORY 

Total Score : 50 

PART - I 

 (1score X 7=7) 
Answer all the questions. 
Questions from 1 to 7 carries 1 score.    
1 apXÂ 7 hsc tNmZ-y-§Ä¡v 1 kvtImÀ hoXw. 

 1. 

 2. 

 3. 

 4. 

 5. 

 6. 

7. 

B) Answer all the questions.  (1score X 1=1) 

8. 

PART - II 

A) Answer any 10 questions out of 15 questions.
Questions from 9 to 23 carries 2 score.  (2score X 10=20) 
9 apXÂ 23hsc tNmZ-y-§Ä¡v 2 kvtImÀ hoXw. 

 9. 

 10. 

11. 

12. 

13. 

14. 

15. 

16. 

17. 

18. 

19. 

20. 

21. 

22. 

23.



B) Answer any 5 questions out of 8 questions.
Questions from 24 to 31 carries 2 score.  (2score X 5=10) 
24 apXÂ 31 hsc tNmZ-y-§Ä¡v 2 kvtImÀ hoXw. 

 24. 

 25. 

26. 

27. 

28. 

29. 

30. 

31. 

PART - III 

A) Answer any 3 questions out of 5 questions.
Questions from 32 to 36 carries 3 score.  (3score X 3=9) 
32 apXÂ 36 hsc tNmZ-y-§Ä¡v 3 kvtImÀ hoXw. 

32. 

33. 

34. 

35. 

36. 

B) Answer any one question out of 2 questions.
Questions from 37 to 38 carries 3 score.  (3score X 1=3) 
37 apXÂ 38 hsc tNmZ-y-§Ä¡v 3 kvtImÀ hoXw. 

37. 

38.


